00 2300 0000ddoddo 1o0od

O000:20110 80 100 (O)600

gogbo: 00 -00
OoO0DbO:00000000bObo0obbooopCcO00ODbOOODODODOOO
gogbobobooogbbobooooboobooooboboboooon

gooooooooooboon (2) DO0O0U0OOO0OODOOOUOOOOOO

3) 80000 000DO0OO0OODOO
010 RebyOOOOOOOOOOOOODOOOOO ®)

giobodo20001600000000000000

oodboed200000x0 16000000000 (O 50 test2.dat000000000O0C0O0O0O0O0
oooooogoooogn lodoounon 0000000000000000000000000
0100000000000000000000000
0000000 200000000000000000
0000000000000000000000000
oooooooon

(1) 21/2 (2) 10.5%2
(3) 0x43 + 0x58 (4)0b111001 + 0b110010

020 000000 RubyOODODOO — test2.dat —
(1)21_1 (2) x — oooo,00,000,000
j—1 y+z d110012,1,1,
d110001,1,1,1
212 . 212 [
(3) {1_(a_b)} T{1_(0_‘1)} d110007, ,1,
d110005,1,1,
d110009, ,1,1
030 0000000000 RubyOODOOOO :

(1) xO 500000
(2) x0 3000000 y0 200000 } inumber = [
(3) ans 0000 yOODOO 3.
(4) d0OO0O0O0 4:0pen("test2.dat", "r") do || O i
(5) xO0 3005000 5: while line = subject.gets
(6) yOOODOD 6: if /II|/ =" line
7: if $2.to_i ==1 || $3.to_i == 1 || $4.to_i ==
8: number << $1
9: end
040 3000000000000000070000 | 100 ena
D000D00000000000000000000 7 | t1: end
000000000000000000000000567 | (5o
000000 23400000000000000000 | 14:wnile i <

[y
(4]

gboabooaoadgod printf ("%s\n", number[il)

-
()]

#!/usr/koeki/bin/ruby
before = []
after = ""

[
~

:end

() 0D [0)o[D]ooo0oO0

print "30 000000000 \n"
number = gets.chomp!.to_i

(2) D0O0O0D0DO0DOOOOOOOOOOO 10000
gboooooobooooooobooboobong

before[0] = number / 100 #1000 0O oo0oo0oo

before[1] = #1000

mmmm]=[::] #100 (3) 0000000000000 O0O0DDO0OO0O000
0000000000000 D000000ogog

“ilf 00000000000000000

i%=10 4 0 |
after += i.IIl —bu—

end

printf("O0 00 : %s\n", after)

() OO0 [0]0[0)0[0]0[0]00000



